Mal 22 %0-1
”r;ﬁﬁdﬂ7# QA?é A

Ow F’mo{,y vt digenssed Ho 2x0slong, ~tanng 56 Hovem fm
Solnhipng 4o g VP

wp. 4 B # tet)
\am *h

We uged sepanalle DE4 & fllushale Has Haovem. .
"The lexd ir\-qs Stfns i“"h-‘S-L'hi exmmfug -hrg) it i?t.q_

Exncise 1a) Solve 4 doflen e : dy _ 4-2x byl dres Heis DE havt
ve N 4‘?{%4‘6’:— 2 = s For what- T doeg Tt 75
%) Dt"sf-uss m i sobwed, Hg “n‘mfh'g'% Solntrimns "
Contd ke mmads mFt\‘m“{-, Do all soluhions shew Somz $l?w%"§ :
ia)‘t>f$;ués Fﬁaf{& G\UL?h*ﬂ

> with{DEtools) :
P> odegtn=difE (v{x) , %) ={4-27x) /(3% v{x)"2-5)
par:l:xDEplot(deqtn,y(x).x:~5..7,y=—5..5,{{y(l):B}},arrows:line,
colorxbiack,lin@colorzblack,dirgridz{&@,é@],stepsize=.l,
title='Part of Figure 1.4.2 page 34 )
with(plots):
pa:t2;:implicitplot(yAEAS*yné*x“x“2+9,x=—5..7,y:~5..5,color=black)

: = T S, 1 - IR
displavi{ipartl.,parti;i;
Warning, the name changecoords 5as been rodefined

Part of Figure 1.4.2 page 34
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